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Whether it is new or whether it is old; it should be cooled

OVERVIEW

The X713 cited a (second ¥n»11) which states (in seeming contradiction to the
previously cited Xn»12) that whether it was a new oven or an old oven which was
heated with X317 10X it needs to be cooled. Our Md0IN explains the ruling of this
second Xn»71 regarding ¥ 7.

mooIn anticipates a difficulty:
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And even though that 3" is 90", so why is it necessary to cool down the w°; why
cannot we bake in it with the fire of the X177 >10°K?!

mooIn responds:
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Nevertheless, since by a &> 7110, cooling is sufficient (to permit its future use)
and he is not losing anything (of the usage of the oven), rather he is only losing
the 718377 2R of the fuel (which is 8373 710K),” therefore 1% is required.

SUMMARY
A minimal loss (of 78371 *MO°X) is acceptable and is still considered 77mn5% and is MOX.

THINKING IT OVER
1. What is 900 question;’ moon just taught us that 3"n7 is °Mn only 728773, but
not 1771n37?!

2. Is there a difference in the 2"17 status of a w7 7N (MO*X 1s MIN and N7 is
o¥y), and a Jw° MmN (MoK is 2°¥y and 07 is M) ?*

" The xin of this X923 maintains M7 3"N1 (otherwise why by w7 the rule is 7X7, it should be yn1"). By 12" there is a
27 of 07 (the 7w° 7In) and a 073 of MO°R (the fuel of X7 *NO°R); it should be 7N to bake in this Min. See
‘Thinking it over’. [See yw17° "1 for an alternate explanation. ]

* He is only losing the heat of X371 *10°X (this loss is acceptable for it is minimal [and we are losing benefit from
RI7 "0°KR as opposed to W (see previous ('X) 172 1"7 'o1n where we stand to lose the benefit of an oven which is
basically 7x372 n1])

? See footnote # 1. See previous ('X7) 12 7"7 'oIn.

* See T 19721 7" 72 PRI 127; see also YW 1. [See TIE X721 7"7 'on 8,13 footnote # 1.]
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